F2EPDAREHF Y ARR—Y FiE
BT AT IVRET X AR/N—-
201959A1H(H)

JDSF D#} 57>
PDSADVY REVE—F %1
JDSF C#57> B#STY 9:30
Z=7 LBASLS—F 1030 BE B HOUY B
Y=T7NBRHT—F S (B8 (8: 45)
JDSF CH#f Bk RHZUH—Fk 11:30
JDSF Dy RAVA—FK 12:30
LZFMAY=FIB RAVH—FK 13:30
PDSAPUY STV 14:00
X wa BEAS ME | mEm | M| uPHM | mEEE
9:57 MEEE -F7/ -V 03:00
1 10:00 JDSF Df} ST 1RTF#E SR 13 2 10 07:00
2 10:07 PDSAPVY RAVE—K IR TF 7 1 7 03:30
3 10:10 JDSF Cfk 57> R SCR 7 1 6 05:15
4 10:15 JDSF B#k STV R SCRP 8 1 6 07:00
5 10:22 JDSF Dk 5TV R SR 3 1 6 03:30
10:26 = B8N 05:00
6 10:31 JDSF Cf#R ST R SCR 6 1 JIE L 05:15
7 10:36 JDSF Bf} ST B SCRP 6 1 JIE L 08:00
8 10:44 JDSF Df} ST R SR 6 1 JIE L 04:30
9 10:49 PDSATVY RAVE—F R TF 7 1 I fi 04:00
10:53 AF—E R -REKX (PDSAOU T REVF—F, DR, Cik. BRST) 0:20:00
10 11:13 =7 0 BfRRAVE—FK 1RFE WTF 13 2 10 10:30
11 11:23 L ZTFN BfFRAVE—K 1RFE WF 16 2 12 07:00
11:30 BEfEERE 08:00
12 11:38 L7 I BRRZVA—K R WTF 10 1 05:15
13 11:43 LZFN BRRZVA—K R WF 12 2 07:00
11:50 BEfEERE 08:00
14 11:58 =71 BRARAVE—K R WTF 6 1 JIE L 06:45
15 12:05 LZF7N BRARAVE—K B WF 6 1 JIE L 04:30
12:10 FF—F R RER (D=7 IB#R. =T NBHRAFILH—K) 10:00
16 12:20 JDSF C#i RAVA—K 1RFE WT 40 4 24 14:00
17 12:34 JDSF Bff RAVH—FK 1RFE WTF 67 8 48 42:00
18 13:16 JDSF D#k RAVH—K 1RFE TF 14 2 10 10:00
19 13:26 JDSF Ci#fy R —K RiRFE WTF 24 3 12 15:45
20 13:41 JDSF Bfk RAVH—K 2RFE WTF 48 6 24 31:30
21 14:13 =7 BRARBAVE—K IR TF 11 2 6 07:00
22 14:20 =7 ARRBVE—K IR WT 11 2 6 07:00
23 14:27 JDSF Bff RALH—K RiRFE WTFQ 24 3 12 21:00
24 14:48 D=7 BRRAVA—R R TF 1 [[:Xivd 04:30
25 14:52 D=7 ARRAUE—K R WT 1 JIE L 04:30
14:57 FHRERE -ERER/N 07:00
15:04 FF—EFR-RER (=7 AR, BIRRAVA—R) 10:00
26 15:14 JDSF Dy RAUH—K R TF 10 1 6 03:30
27 15:17 JDSF C#y RS —K R WTF 12 2 6 10:30
28 15:28 JDSF BfR R4 4 —K R WTFQ 12 2 6 14:00
29 15:42 PDSASVYT STV IR SR 4 1 4 15:00
15:57 = BN 03:00
30 16:00 JDSF Dy RS —K R TF 6 1 JIEE 04:30
31 16:04 JDSF Ci#fy RS —K R WTF 6 1 JIEE 06:45
32 16:11 JDSF BfR R4 4 —K R WTFQ 6 1 JIE L 09:00
33 16:20 PDSATVY STV R SR 4 1 I fiz 04:30
16:25 FF—EFoR-RERK 15:00
16:40 =T

* BEADTEAYIE 1, ATRASWELET BRICTERIIA, R—2




